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The safer , easier way to help you pass any IT exams.

1. Bifi:

11. public static void parse(String str) {
12, try{

13. float f = Float.parseFloat(str);

14. } catch (NumberFormatException nfe) {

15. f=0;

16. }finally {

17. System.out.printin(f);
18. }

19.}

20. public static void main(String[] args) {

21. parse("invalid);

22.}

P A N

A.0.0

B. #aE kM.

C. 7EHITIREY parse J7i2:er 2t —1lil ParseException.

D. 7E#ATIEY] parse J7vZ & Z {1 NumberFormatException.

Answer: B

2. Gt T8RS ] .

1. public class A {

2. public String doit(int x, int y) {
3. return "a”;

4. '}

5.

6. public String doit(int... vals) {

7. return "b";

9.}
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, easier way to help you pass any IT exams.

TRCE

25. A a=new A();

26. System.out.println(a.doit(4, 5));
KR A2

A. 5 26 1TE ¥ "a" 41 EI 3 System.out.
B. % 26 17 #"b"41 Fl1 £] System.out.
55 26 1T EAESAT IR il b

D. &% 6 1T M, U A K 4eE e K.

C.

Answer: A

3. Hify:

10. int x = 0;
11.inty = 10;
12.do{

13. y--
14. ;
15. } while (x < 5);

16. System.out.print(x +"," +y);
& R AT 2

A.5,6

B.5,5

C.6,5

D. 6,6

Answer: B

4. GEte THIR ] $si.
1. public class A {
2. public void method1() {

3. try {

4, B b = new B();
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5. b.method2();

6. /I more code here

7. } catch (TestException te) {

8. throw new RuntimeException(te);
9. }

6. }

7.}

1. public class B {

2. public void method2() throws TestException {
3. /I more code here

4. '}

5.}

1. public class TestException extends Exception {
2.}
TRCE
31. public void method() {
32. Aa=newA();
33. a.methodl();
34.}
WURSET B AES 34T £ 1 TestException, HIME-—TH /& IE R ?
A. 5 33 ATRLZELE Ml try [E RN IY A
B. ANZH% catch )i A 2 methodl T 2 Hi I 4h

C. 8 31 ATE S kb 21 E 5 2 i —11f RuntimeException.

D. 7800 A % 547, $B8050 B 2 method2 (MY, ARNaAJHE—{ try/catch [& 3R 1N .
Answer: B
5. Bif:

12. public class Wow {
13.  public static void go(short n) {System.out.printin("short");}

14.  public static void go(Short n) {System.out.printin("SHORT");}
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The safer , easier way to help you pass any IT exams.

15.  public static void go(Long n) {System.out.printin(* LONG");}

16. public static void main(String [] args) {

17. Shorty = 6;
18. intz=7,
19. go(y);

20. go(2);

21. '}

22.}

KERBT?

A. short LONG

B. SHORT LONG

C. kM.

D. 7EFATIRHW L T i1 5k

Answer: C

6. Bify:

11. String test = "This is a test";

12. String[] tokens = test.split("\s");
13. System.out.printin(tokens.length);
KR A2

A.0

B.1

C. 4

D. #iies K

E. EPUTHRIIZH T (B 5k

Answer: D

7. Bif:
public class NamedCounter {

private final String name;
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}

private int count;

public NamedCounter(String name) { this.name = name; }
public String getName() { return name; }

public void increment() { count++; }

public int getCount() { return count; }

public void reset() { count =0; }

JERZMO = T2, A e EE 0N, DLt (BT LAt e GBI =0, )

A. i synchronized [ 5 1% reset()

B. H synchronized F#$# & 15 getName()
C. H synchronized [t & % getCount()
D. H synchronized B## & % &4 o

E. H synchronized [ & 15 increment()
Answer: ACE

8. Bif:

11. class ClassA {}

12. class ClassB extends ClassA {}

13. class ClassC extends ClassA {}

DY

21. ClassA p0 = new ClassA();

22. ClassB p1 = new ClassB();

23. ClassC p2 = new ClassC();

24. ClassA p3 = new ClassB();

25. ClassA p4 = new ClassC();

W= TE R IR 7 GEE=IH. )

A.

B.

C.

D.

pO = pl;
pl=p2;
p2 = p4;

p2 = (ClassC)p1;

6/22



The safer , easier way to help you pass any IT exams.

E. p1 = (ClassB)p3;
F. p2 = (ClassC)p4;

Answer: AEF

9. Hify:

10: public class Hello {
11:  String title;

12:  intvalue;

13:  public Hello() {
14: title += " World";
15:  }

16:  public Hello(int value) {

17: this.value = value;
18: title = "Hello";

19: Hello();

20: }

21:}

PLA:

30: Hello ¢ = new Hello(5);

31: System.out.printin(c.title);

KR AT ?

A. Hello

B. Hello World

C. kM.

D. Hello World 5

E. BRI LLAT, (Hig At
F. EHUTIIZE T — Ik

Answer: C

10. Bif:
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1. interface DoStuff2 {

2. float getRange(int low, int high); }

4. interface DoMore {

5. float getAvg(int a, int b, int c); }

7. abstract class DoAbstract implements DoStuff2, DoMore { }

9. class DoStuff implements DoStuff2 {
10. public float getRange(int x, inty) { return 3.14f; } }
11.
12. interface DoAll extends DoMore {
13. float getAvg(int a, int b, int ¢, int d); }
KR A2
A. RESERTLASRE, TR A B R
M R HATEE 7 ATH MR .
. ARG VAR 12 AT SRR .
. AEERHL. A 134T EERER
Bt R HATES 7 ATELSE 12 AT 85 RR
F. fee kL. A5 7 47558 13 AT A $tk.

G. Sk, 7. 12, Bl 13 17 55R.

O O W

m

Answer: A

11. Hif:

10. package com.sun.scjp;

11. public class Geodetics {

12.  public static final double DIAMETER = 12756.32; // kilometers

13.}

R TE AT LU IE A A7 X Geodetics )1 DIAMETER J 8 ?  GEEENIH. )

A. import com.sun.scjp.Geodetics;
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public class TerraCarta {

public double halfway/()

{ return Geodetics.DIAMETER/2.0; } }

B. import static com.sun.scjp.Geodetics;
public class TerraCarta{

public double halfway() { return DIAMETER/2.0; } }
C. import static com.sun.scjp.Geodetics.*;
public class TerraCarta {

public double halfway() { return DIAMETER/2.0; } }
D. package com.sun.scjp;

public class TerraCarta {

public double halfway() { return DIAMETER/2.0; } }

Answer: AC

12. A

10. class Nav{

11.  public enum Direction { NORTH, SOUTH, EAST, WEST }
12.}

13. public class Sprite{

14. //insert code here

15.}

55 1A AT I IHRECAAZ,  nI 3% Sprite 27 4 ?
A. Direction d = NORTH,;

B. Nav.Direction d = NORTH,;

C. Direction d = Direction.NORTH,;

D. Nav.Direction d = Nav.Direction.NORTH;

Answer: D

13. A

10. interface Foo { int bar(); }
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11. public class Sprite {
12.  public int fubar( Foo foo ) { return foo.bar(); }

13.  public void testFoo() {

14, fubar(

15. I/l insert code here
16. );

17. }

18.}

55 15 ATHE AL TERE U4, W) Sprite J57 4 ?
A. Foo { public int bar() { return 1; } }

B. new Foo { public int bar() { return 1; } }

C. new Foo() { public int bar() { return 1; } }

D. new class Foo { public int bar() { return 1; } }

Answer: C

14, Gt THUR] %8

10. interface Foo {

11.  int bar();

12.}

13.

14. public class Beta {

15.

16. class Aimplements Foo {
17. public int bar() { return 1; }
18. }

19.

20. public int fubar( Foo foo ) { return foo.bar(); }
21.

22.  public void testFoo() {

23.
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24, class A implements Foo {

25. public int bar() { return 2; }

26. }

27.

28. System.out.printin( fubar( new A() ) );

29. }

30.

31. public static void main( String[] argv ) {

32. new Beta().testFoo();

33. }

34.}

W = THAR & E AR 2 (GEEE=TH. )

A. e KB

- REACHE AT DA, e A 2.

C. WIRREERH 16, 17, 1817, #agar KM

D. WRBEREE 24, 25, 26 1T, #miEer K.

E. WURBERY 16, 17, 1817, PG n Llgwas, M2y 2.
WIRFEERSS 24, 25, 26 17, FEAUAGRTLAgaE, i & 1o

oy)

m

Answer: BEF

15. Bify:
1. public interface A {
2. String DEFAULT_GREETING = "Hello World";
3. public void method1();
4.}
HRE Rt AL g S AR 2 B (i, I8 BL A 2 A8
R — TELA T )R TR ?
A. public interface B extends A {}
B. public interface B implements A {}

C. public interface B instanceOf A {}
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D. public interface B inheritsFrom A {}

Answer: A

16. Bifi:
1. class TestA {
2. public void start() { System.out.printin("TestA"); }
3.}
4. public class TestB extends TestA {
5.  public void start() { System.out.printin("TestB"); }
6. public static void main(String[] args) {
7. ((TestA)new TestB()).start();
8. }
9.}
KR A2
A. TestA
B. TestB
C. A R
D. fEHATIREIE N T — (1 4b.

Answer: B

17. Bify:
1. interface TestA { String toString(); }
2. public class Test {

3. public static void main(String[] args) {

4. System.out.printin(new TestA() {
5. public String toString() { return "test”; }
6. D;
7.}
8.}
KR A2
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A. test

us)

. null

C. fESATHRAII W T — il il 51

D. 28 1 ATl in & 1 i o 2K FC
E. 28 4 47 B {8 SR g it Ak L

T A e R

&)

F. 55 5 AT sk

Answer: A

18. Bify:

11. public abstract class Shape {
12. intx;

13. inty;

14.  public abstract void draw();
15.  public void setAnchor(int x, int y) {
16. this.x = x;

17. this.y =y;

18. '}

19.}

DA K — | ZE J I 564> #64T Shape XH)711F) Circle .
MR- TR IR ?

A. Shape s = new Shape();
s.setAnchor(10,10);

s.draw();

B. Circle ¢ = new Shape();
c.setAnchor(10,10);

c.draw();

C. Shape s = new Circle();
s.setAnchor(10,10);

s.draw();

D. Shape s = new Circle();
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The safer , easier way to help you pass any IT exams.

s->setAnchor(10,10);
s->draw();

E. Circle ¢ = new Circle();
c.Shape.setAnchor(10,10);
c.Shape.draw();

Answer: C

19. Bify:

10. abstract public class Employee {

11. protected abstract double getSalesAmount();

12.  public double getCommision() {

13. return getSalesAmount() * 0.15;

14. }

15.}

16. class Sales extends Employee {

17.  [/linsert method here

18.}

TES 17 A7 T LA H 20 4l NV RR 7 V5, DA IERERL5E R Sales %0777 CGEEENIH. )
A. double getSalesAmount() { return 1230.45; }

B. public double getSalesAmount() { return 1230.45; }

C. private double getSalesAmount() { return 1230.45; }
D. protected double getSalesAmount() { return 1230.45; }

Answer: BD

20. Bify:

10. interface Data { public void load(); }

11. abstract class Info { public abstract void load(); }

WG —fIaI K o A E A A ] Data /i 11 52 Info %5551 ?

A. public class Employee extends Info implements Data {

public void load() { /*do something*/ }
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}

B. public class Employee implements Info extends Data {
public void load() { /*do something*/ }

}

C. public class Employee extends Info implements Data
public void load(){ /*do something*/ }
public void Info.load(){ /*do something*/ }

}

D. public class Employee implements Info extends Data {
public void Data.load(){ /*do something*/ }
public void load(){ /*do something*/ }

}

E. public class Employee implements Info extends Data {
public void load(){ /*do something*/ }
public void Info.load(){ /*do something*/ }

}

F. public class Employee extends Info implements Data{
public void Data.load() { /*do something*/ }
public void Info.load() { /*do something*/ }

}

Answer: A

21. Bify:

11. public abstract class Shape {

12. private int x;

13. privateinty;

14. public abstract void draw();

15.  public void setAnchor(int x, int y) {
16. this.x = x;

17. this.y = y;
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18. }
19.}
WG D {181 5 7] 1 ff ] Shape 2807112 GRIENIE. D
A. public class Circle implements Shape {
private int radius;
}
B. public abstract class Circle extends Shape {
private int radius;
}
C. public class Circle extends Shape {
private int radius;
public void draw();
}
D. public abstract class Circle implements Shape {
private int radius;
public void draw();
}
E. public class Circle extends Shape {
private int radius;
public void draw() {/* code here */}
}
F. public abstract class Circle implements Shape {
private int radius;
public void draw() { /* code here */ }

}

Answer: BE

22. WER 2 A LLIEfEHL B 4T java.lang.Runnable LL /% java.lang.Cloneable Wiffi/rfi?  CGRIENIE. )
A. public class Session

implements Runnable, Cloneable {
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public void run();
public Object clone();
}
B. public class Session
extends Runnable, Cloneable {
public void run() { /* do something */ }
public Object clone() { /* make a copy */ }
}
C. public class Session
implements Runnable, Cloneable {
public void run() { /* do something */ }
public Object clone() { /* make a copy */ }
}
D. public abstract class Session
implements Runnable, Cloneable {
public void run() { /* do something */ }
public Object clone() { *make a copy */ }
}
E. public class Session
implements Runnable, implements Cloneable {
public void run() { /* do something */ }
public Object clone() { /* make a copy */ }

}

Answer: CD

23. Bify:

11. public interface Status {
12. /*insert code here */ int MY_VALUE = 10;
13.}

MR =THAESE 12 472K GEE=IH. )
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A. final

B. static

C. native

D. public

E. private

F. abstract
G. protected

Answer: ABD

24. SE¥E THUR | %L,
1. public class GoTest {

2. public static void main(String[] args) {

3. Sente a = new Sente(); a.go();
4., Goban b = new Goban(); b.go();
5. Stone ¢ = new Stone(); ¢.go();
6. }

7.}

8.

9. class Sente implements Go {

10.  public void go() { System.out.printin("go in Sente."); }
11.}

12.

13. class Goban extends Sente {

14.  public void go() { System.out.printin("go in Goban™); }
15.}

16.

17. class Stone extends Goban implements Go { }

18.

19. interface Go { public void go(); }

KR A2
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A. go in Goban
go in Sente
go in Sente
B. go in Sente
go in Sente
go in Goban
C. goin Sente
go in Goban
go in Goban
D. go in Goban
go in Goban

go in Sente

E. %8 17 1TH— {855

Answer: C

25. Ghta [#R | ¥,

1. public class Test {

2. intx=12;

3. public void method(int x) {

4. X+=X;

5. System.out.printin(x);

6. )
7.}

WA

34. Testt = new Test();

35. t.method(5);

Test JH2 58 5 1T I iR A2 2

A.5

B. 10

C.12

it S A e R o
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D.17
E. 24

Answer: B

26. Bify:

55.int[] x={1, 2, 3, 4, 5};
56.inty[] =x

57. System.out.printin(y[2]);
R — TS 2 I HE ) 2

A. 2 ST ATE RN 2.

B. % 57 1T & EIHHUE 3.

C. K%y% B5 AT —fHEh=R,
D. A Z5% 56 1TH— SR, S

mE}
=

Answer: B

27. Bifq:

35. String #name = "Jane Doe";
36. int $age = 24;

37. Double _height = 123.5;

38. double ~temp = 37.5;

MR DY TESAR 2 IR RE R 2 GRS T
A. 5B 35 4T A

B. 2B 36 17 ML .

C. % 37 17 i anie.

D. 2 38 47 ik 4w .

Answer: AD

28. W ph TERS AR v B AT DL I T 2t
A. static final int[] a = { 100,200 };

B. static final int[] a;

BIgate 1 int JCE AEF R RS ?

CIEFENIH. )
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static { a=new int[2]; a[0]=100; a[1]=200; }

C. static final int[] a = new int[2}{ 100,200 };

D. static final int[] a;

static void init() { a = new int[3]; a[0]=100; a[1]=200; }

Answer: AB

29. Bify:
11. public class Ball{
12.  public enum Color { RED, GREEN, BLUE };

13.  public void foo(){

14. Il insert code here

15. { System.out.printin(c); }
6. }

17.}

TES 14 AT4 AW — IR U, 7T 3% foo J744HIH RED. GREEN. L) BLUE?
A. for( Color c : Color.values() )

B. for( Color ¢ = RED; ¢ <= BLUE; c++)

C. for( Color c¢ ; c.hasNext() ; c.next() )

D. for( Color ¢ = Color[0]; ¢ <= Color[2]; c++)

E. for( Color ¢ = Color.RED; ¢ <= Color.BLUE; c++)

Answer: A

30. Hify:

11. public enum Title {

12.  MR("Mr."), MRS("Mrs."), MS("Ms.");

13. private final String title;

14. private Title(String t) { title = t; }

15.  public String format(String last, String first) {
16. return title + " " + first + " " + last;

17. }
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18.}

19. public static void main(String[] args) {

20.  System.out.printin(Title. MR.format("Doe", "John"));
21.}

KR B2

A. Mr. John Doe

B. TERATRAIIE W T — i oh

C. 55 12 AT R I8 S i e e P

D. % 15 47—l S 50 & 1 R v ok B

E. 55 20 AT 10— {1 S8t il ndE A L

Answer: A
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